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3a 1a He 3~0pasarp yuemmnu-1h aa ewh
Tarh U ja phmaB&ATh pasawumbl 3ajaud. Tplh
6a ja ra Kapame, noiuph cbrkm ypokz, x
pbmaBars 1o whkoiko 3ajaud, no cxuUA Ha
YAHD, KaKTO M Bb NLPBLII KYPCh.

]13.%1&])(”{6 HO YpCmbl CMOMUNU CO UUCHILS,

Raro manarame rtoa kypen, Huii whma g
ca mpocrupaMe, 3anmo-To Xoia Ha npbmoia
BaHIe-T0 H MNeroja-Ta CH OCTaBATDL CRIIH:
15, Caes. 3a ja rosopumb noppoGHO, uie EKa:
Xe Ia IOBTADNE Ka3aHO-TO Bb HLPBHA KYP:
cb. Ba 1a He craBa ToBa, WAl I WRTOKAME
caMo0 oOTAbaBEE-TS CTHUEHH, KatTo mokamen
HY®HH-TH yUpamuerid caMo ¢b HaubpTaHle HE
yucIeHHH-113 orHOmeRnis U ¢b HBKOAKO OTBIe
yerHH 3ajgaun. TpbOa 1a mommAND., ue U ce:
ra chbkm yporn 1phOa ja ca mouesa €LEHHA
rabian  ynpaskaenis. TaOmuun-1h. abro ¢
JajeHH Tyka, TphOa 1a PMKOBOIERIDL yunTe:
g Bb Th3m yopammemim; Thsu talaumu rphs
6a Ja ca M3BAKIATB OTH YOPAKHEHI-Ta, Ka
T0 ecrecTBeRHO ThXHO cabicrsie.




